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Mid-term test exam 2007-2008.

FEzxamination time 1 hour.
Answer one question. Fach part of the question carries equal weight.

1. i) Explain how an applied economist can test the two legs of the Friedman
hypothesis.

ii) Analyze the causal effect of real (growth) uncertainty on output growth.

iii) The following sums were obtained from 10 sets of observations (in terms
of deviations from the mean) on y (output growth), o, (growth uncertainty),
and o, (inflation uncertainty):

Syt = 482, Yo, =2,
20727 = 3, Y o,0-=—1,
Yyo, = -1, Y yor=8.

In addition, when we regress y on o, and o, the RSS (residual sum of squares)
is 3.6. Calculate

a) the estimated values of the two slope coefficients. (Hint: use the form
B = (xx)"'xy)

b) the standard error of the regression.

2. i) Let m and u denote inflation and unemployment rate respectively.
The following sums were obtained: Y 7u = 70, > u? = 40 and Y 7?2 = 124
(where the variables are expressed in terms of deviations from the sample mean).
Calculate the sample correlation coefficient between inflation and unemployment
rate (rr,), and the estimated slope coefficient from the regression of 7 on u

(Bra)-

ii) Let 8, be the estimated slope coefficient from the regression of u on .
Write an equation that relates ryy, B, and 5,,.

iii) Present three alternative inflation/unemployment rate regressions.

iv) The following regression equation (the number of observations are 500)
is estimated as a production function for Q:

1 = 1.374 0.632 In(K) + 0.452 In(L
n(Q) + (0.257) n(K) + (0.219) n(L),
R* = 0.98, Cov(bg,b) = 0.055,



where the standard errors are given in parentheses. Test the hypothesis that
the capital and labor elasticities of output are identical.

3. i) Explain how we might use the Box-Pierce statistic to test estimated
residuals for serial correlation.

ii) Explain how we might use White statistic to test for the presence of
heteroscedasticity in the estimated residuals.

iii) Explain Breusch-Pagan test for serial correlation.
iv) An investigator regress stock volatility on a constant and on stock trading

volume. The values of six test statistics are shown in table 1. Discuss the results.
Is the above regression correctly specified?

Table 1.

Test statistic p-value
Breusch-Pagan test (.03

Box-Fierce Statistic on 0.03

Squared Residuals
Tarque-Bera statistic 0.01
Breusch-Godfrey test  0.15

Ramsey test statistic 0.03
White test 0.06




